








TYPE stru1 :
STRUCT
  ivar:INT;
  strvar:STRING:='hallo';
END_STRUCT
END_TYPE

FUNCTION_BLOCK fublo1
VAR_INPUT
  struvar:STRU1;
END_VAR
VAR_OUTPUT
  fbout_i:INT;
  fbout_str:STRING;
END_VAR
VAR
  fbvar:STRING:='world';
END_VAR
fbout_i:=struvar.ivar+2;
fbout_str:=CONCAT (struvar.strvar,fbvar);



PROGRAM cfc_prog
VAR
  intvar: INT;
  stringvar: STRING; 
  fbinst: fublo1;
  erg1: INT;
  erg2: STRING;
END_VAR

TYPE stru1 :
STRUCT
  ivar:INT;
  strvar:STRING:='hallo';
END_STRUCT
END_TYPE

FUNCTION_BLOCK fublo2
VAR_INPUT CONSTANT
  fbin1:INT;
  fbin2:DWORD:=24354333;
  fbin3:STRING:='hallo';
END_VAR
VAR_INPUT
  fbin : INT;
END_VAR
VAR_OUTPUT
  fbout : stru1;
  fbout2:DWORD;
END_VAR
VAR
  fbvar:INT;
  fbvar2:STRING;
END_VAR

VAR
  intvar: INT;
  stringvar: STRING; 
  fbinst: fublo1;
  erg1: INT;
  erg2: STRING;
  fbinst2: fublo2;
END_VAR























<Device name for the data source>.<Function block
name>.<Variable name>











<Device name>.<Application name>.<Object name>





































stRotate := CONCAT(RIGHT(stRotate,(LEN(stRotate) - 1)), (LEFT(stRotate, 1)));



Ave := GeomAverage(X7, 25);

POUToCall(Counter := MyCounter, Decrement:=2, bError=>Err, wError=>ErrCode);



Inst.ResetAction();

Z := IHome.Home(TRUE, TRUE, TRUE);



bCallRestAction





































<LibraryName>



















 wsText:= ML_Base.GetCompany();



 wsText:= ML_Base.GetTitle();

VAR
 uVersion: VERSION;
END_VAR

 uVersion:= ML_Base.GetVersion();









g_RecipeManager.LastError





<Recipe name>.<Recipe definition name>.txtrecipe









IF value < 7 THEN
WHILE value < 8 DO

  value:=value+1;
END_WHILE;

END_IF;

33 // Constant
ivar // Variable
fct(a,b,c) // Function call
a AND b // Expression
(x*y) / z // Expression
real_var2 := int_var; // Assignment, see below



int_var1 := int_var2 := int_var3 + 9; // int_var1, int_var2 will get the value of (int_var3 + 9)
real_var1:= real_var2 := int_var; // correct assignments,
                                      // real_var1, real_var2 will get the value of int_var
int_var := real_var1 := int_var; // this will lead to an error, data type mismatch!

IF b := (i= 1) THEN
  i := i + 1;
END_IF;





Var1 := Var2 * 10;

a S= b;

a R= b;

a S= b R= fun1(par1,par2);

<FB instance name>(FB input variable:=<value or address>|, <further FB input variable:=<value or address>
                                                                         |...further FB input variables);



 TMR(IN := %IX5, PT := 300);
 A:=TMR.Q

RETURN;

IF b:=TRUE THEN
RETURN;

END_IF;
  a:=a+1;

IF <Boolean_expression1> THEN 
 <IF_instructions>
{ELSIF <Boolean_expression2> THEN 
 <ELSIF_instructions1>

ELSIF <Boolean_expression n> THEN 
 <ELSIF_instructions-1>
ELSE
 <ELSE_instructions>} 
END_IF;

IF temp<17
THEN heating_on := TRUE;



ELSE heating_on := FALSE;
END_IF;

CASE <Var1> OF 
 <value1>: <Instruction 1> 
 <value2>: <Instruction 2> 
 <value3, value4, value5>: <Instruction 3> 
 <value6 .. value10>: <Instruction4> 
   ... 
 <value n>: <Instruction n> 
ELSE <ELSE Instruction> 
END_CASE;

CASE INT1 OF
1, 5: BOOL1 := TRUE;
 BOOL3 := FALSE;
2: BOOL2 := FALSE;
 BOOL3 := TRUE;
10..20: BOOL1 := TRUE;
 BOOL3:= TRUE;
ELSE
 BOOL1 := NOT BOOL1;
 BOOL2 := BOOL1 OR BOOL2;
END_CASE;

VAR INT_Var :INT; END_VAR

FOR <INT_Var> := <INIT_VALUE> TO <END_VALUE> {BY <Step size>} DO 
 <instructions> 
END_FOR;



FOR Counter:=1 TO 5 BY 1 DO
  Var1:=Var1*2;
END_FOR;

  Erg:=Var1;

WHILE <boolean expression> DO 
 <instructions> 
END_WHILE;

WHILE counter<>0 DO
   Var1 := Var1*2;
   Counter := Counter-1;
END_WHILE;



REPEAT
 <instructions>
UNTIL <Boolean expression> 
END_REPEAT;

REPEAT
   Var1 := Var1*2;
   Counter := Counter-1;
UNTIL

   Counter=0
END_REPEAT;

CONTINUE

FOR Counter:=1 TO 5 BY 1 DO
  INT1:=INT1/2;

IF INT1=0 THEN
CONTINUE; // to avoid division by zero

END_IF
   Var1:=Var1/INT1; // only executed, if INT1 is not "0"
END_FOR;

 Erg:=Var1;



<label>:
 ...
JMP <label>;

i:=0;
llabel: i:=i+1;
IF (i<10) THEN 
JMP llabel;
END_IF;

(*This is a comment.*)

// This is a comment

(*
  a:=inst.out; (* to be checked *)
  b:=b+1;      // increment
 *)


















